

## THE DISTRIBUTION OF VALUES OF SOME MULTIPLICATIVE FUNCTIONS

*Aleksandar Ivić*

(Received December 17, 1976)

### 1. Introduction

Let us consider the following examples of multiplicative arithmetical functions:

a) Sum of divisors function  $\sigma(n) = \sum_{d|n} d$ ,  $\sigma(p^a) = 1 + p + \dots + p^a$  ( $p$  denotes a prime number throughout the paper,  $\sum_{d|n}$  summation over all divisors on  $n$ ).

b) Euler's totient function  $\varphi(n) = \sum_{m < n, (m, n) = 1} 1 = n \sum_{d|n} \mu(d)/d$  = the number of integers less than  $n$  which are relatively prime to  $n$ . Here  $\mu(n)$  as usual stands for the Möbius function, and  $\varphi(p^a) = p^a - p^{a-1}$ .

c) Dedekind's function  $\psi(n) = n \prod_{p|n} (1 + 1/p) = n \sum_{d|n} \mu^2(d)/d$ . Here  $\prod_{p|n}$  denotes the product over all different prime divisors of  $n$  and  $\psi(p^a) = p^a + p^{a-1}$ .

d) Unitary analogue of the sum of divisors function  $\sigma^*(n) = \sum_{d|n, (d, n/d)=1} d$ , so that  $\sigma^*(n)$  is the sum of divisors  $d$  of  $n$  for which  $d$  and  $n/d$  are relatively prime (such divisors  $d$  are called unitary divisors of  $n$ ). We have  $\sigma^*(p^a) = p^a + 1$ .

e) Unitary analogue of the totient function:  $\varphi^*(n) = n \sum_{d|n, (d, n/d)=1} (-1)^{\omega(d)}/d$  where  $\omega(n)$  is the number of distinct prime factors of  $n$ ,  $\varphi^*(p^a) = p^a - 1$ .

For a more detailed account of  $\sigma(n)$  and  $\varphi(n)$  consult [7], for  $\psi(n)$  see [8], and for  $\sigma^*(n)$  and  $\varphi^*(n)$  see [3]. All of the above mentioned functions have the common property that they are multiplicative, positive and that

$$f(p^k) = p^k + a_{1,k} p^{k-1} + a_{2,k} p^{k-2} + \dots + a_{k,k}$$

where  $|a_{i,k}| \leq 1$  for all  $k$  and  $i = 1, 2, \dots, k$ . Therefore, we may define a general class of arithmetical functions  $D$  which contains all of the mentioned functions as follows:

**Definition:** A multiplicative function  $f(n)$  belongs to the class  $D$  if for every prime  $p$  and every natural number  $k$  there exist numbers  $a_{1,k}, a_{2,k}, \dots, a_{k,k}$  such that

$$(1) \quad f(p^k) = p^k + a_{1,k} p^{k-1} + a_{2,k} p^{k-2} + \dots + a_{k,k}$$

where  $-1 \leq a_{i,k} \leq K$  for some non-negative  $K$  and all  $k$  and  $i = 1, 2, \dots, k$ .

From this definition it is obvious that  $f(n)$  is strictly positive and that  $f(n)$  is a natural number if the  $a_{i,k}$ 's are integers (if the  $a_{i,k}$ 's were allowed to take smaller integer values than  $-1$  then  $f(n)$  would not always be positive).

For every arithmetical function  $f(n)$  we may define a new function  $\bar{f}(n)$  as

$$(2) \quad \bar{f}(n) = \sum_{f(m)=n} 1,$$

that is, as the number of solutions of the equation  $f(m) = n$  in  $m$ , if  $n$  is given. Then  $N(x) = \sum_{n \leq x} \bar{f}(n) = \sum_{f(m) \leq x} 1$  is the number of integers  $m$  from which  $f(m) \leq x$ .

The main purpose of this paper is to investigate the asymptotic formula for  $N(x)$  when  $f(n)$  belongs to the class  $D$ . Since from (1) we see that  $f(n)$  is in a certain sense about the same order of magnitude as  $n$ , we may suppose that  $N(x)$  will behave asymptotically as  $Cx$  for a suitable positive constant  $C$ . Theorem 2 shows that this is indeed so, giving a more precise result; the method of proof used there originated with Paul T. Bateman, [1], who investigated the distribution of values of the Euler function  $\varphi(n)$ . One might because of (1) also expect that as  $x \rightarrow \infty$   $\sum_{n \leq x} f(n) \sim Dx^2$  (where  $D$  is a suitable positive constant) since  $\sum_{n \leq x} n \sim x^2/2$  as  $x \rightarrow \infty$ . This is not difficult to obtain; if

we set  $F(s) = \sum_{n=1}^{\infty} f(n) n^{-s}$ ,  $G(s) = F(s)/\zeta(s-1)$  then using (1) and  $\zeta(s) = \prod_p (1 - p^{-s})^{-1}$  (valid for  $\text{Re } s > 1$ ) we see that the abscissa of absolute convergence of  $G(s)$  equals 1 and therefore a classical convolution argument (see [7] for the corresponding results concerning  $\sigma(n)$  and  $\varphi(n)$ ) gives for every  $\varepsilon > 0$

$$(3) \quad \sum_{n \leq x} f(n) = \frac{G(2)}{2} x^2 + O(x^{1+\varepsilon}),$$

and additional information about  $f(n)$  may lead to improvements of the error term.

## 2. Statement and proof of theorems

**Theorem 1.** *If  $f(n)$  belongs to the class  $D$  then there exist positive numbers  $C_1, C_2$  and a natural number  $n_1$  such that*

$$(4) \quad f(n) \leq C_1 n (\log \log n)^K \quad \text{for } n \geq n_1$$

$$(5) \quad f(n) \geq C_2 m / \log \log m \quad \text{for } m > 1, n = 2^k m, m \text{ odd}$$

where  $K$  is the constant such that  $a_{i,k} \leq K$  for all  $k$  and  $i=1, 2, \dots, k$  and  $a_{i,k}$  are the numbers appearing in (1).

**Theorem 2.** If  $f(n)$  belongs to the class  $D$  and  $a_{1,1}$  is an integer then

$$(6) \quad N(x) = \sum_{f(n) \leq x} 1 = Cx + O(x \cdot \exp(-d \log^{3/8-\varepsilon} x))$$

where  $d$  and  $\varepsilon$  are arbitrary positive numbers,  $C = \lim_{s \rightarrow 1+0} (s-1)H(s)$ ,  $H(s) = \sum_{n=1}^{\infty} (f(n))^{-s}$ .

**Theorem 3.** If  $f(n)$  belongs to the class  $D$  then

$$(7) \quad \sum'_{n \leq x} \frac{1}{\log f(n)} = \frac{x}{\log x} \left( 1 + O\left(\frac{\log \log \log x}{\log x}\right) \right)$$

where the dash ' denotes summation over all  $n$  for which  $f(n) > 1$ .

**Proof of theorem 1.** If  $p^k \parallel n$  means that  $p^k$  divides  $n$  and that  $p^{k+1}$  does not, then since  $f(n)$  is multiplicative we have by (1)

$$f(n) = \prod_{p^k \parallel n} f(p^k) \leq \prod_{p^k \parallel n} \left( p^k + K \frac{p^k - 1}{p - 1} \right) \leq \prod_{p^k \parallel n} \left( p^k + \frac{Kp^k}{p - 1} \right) = n \prod_{p \mid n} \left( 1 + \frac{K}{p - 1} \right).$$

$$\log \prod_{p \mid n} \left( 1 + \frac{K}{p - 1} \right) = \sum_{p \mid n} \log \left( 1 + \frac{K}{p - 1} \right) \leq K \sum_{p \mid n} \frac{1}{p - 1} \leq K \sum_{p \leq p_m} \frac{1}{p - 1},$$

where  $m = \omega(n)$  denotes the number of distinct prime divisors of  $n$  and  $p_m$  denotes  $m$ -th prime number.

$$\text{Since } \sum_{p \leq x} \frac{1}{p - 1} - \sum_{p \leq x} \frac{1}{p} = \sum_{p \leq x} \frac{1}{p^2 - p} = O(1) \text{ and (see [7])}$$

$$\sum_{p \leq x} \frac{1}{p} = \log \log x + O(1)$$

it follows that for some constant  $B > 0$  and  $n \geq n_1$   $\log \prod_{p \mid n} \left( 1 + \frac{K}{p - 1} \right) \leq K \log(B \log p_m)$ .

From the elementary estimate  $p_n \leq n^{3/2}$  valid for  $n \geq 3$  we obtain

$$\log \prod_{p \mid n} \left( 1 + \frac{K}{p - 1} \right) \leq K \log \left( \frac{3}{2} B \log m \right).$$

Using the elementary fact that  $n \geq \prod_{p \mid n} p$  we have  $\log n \geq \omega(n) \log 2$ , and so for  $n \geq 5$   $\log m = \log \omega(n) \leq \log \log n - \log \log 2 \leq 2 \log \log n$  which proves (4) with  $C_1 = (3B)^K$ .

To prove (5) note that by (1)  $f(p^k) \geq p^k - p^{k-1} - p^{k-2} - \dots - p - 1$  so that  $f(p^k) = 1$  possibly only for  $p = 2$ , otherwise  $f(p^k) > 1$  and we have

$$(8) \quad f(n) = f(2^k)f(m) \geq \prod_{p^k | m} \left( p^k - \frac{p^k - 1}{p - 1} \right) = \prod_{p^k | m} \frac{p^{k+1} - 2p^k + 1}{p - 1} \geq m \prod_{p | m} \frac{p - 2}{p - 1}.$$

Since for  $0 \leq x \leq 1/2$

$$\log \frac{1}{1 - x} \leq x + x^2$$

then

$$\begin{aligned} \log \prod_{p | m} \left( 1 - \frac{1}{p - 1} \right)^{-1} &= \sum_{p | m} \log \left( 1 - \frac{1}{p - 1} \right)^{-1} \leq \sum_{p | m} \left( \frac{1}{p - 1} + \frac{1}{(p - 1)^2} \right) \leq \\ &\leq \log(C_3 \log \log m) + O(1) \leq \log(C_4 \log \log m) \end{aligned}$$

for  $m > 1$  and  $C_4$  large enough, so that with  $C_2 = C_4^{-1}$

$$\prod_{p | m} \left( 1 - \frac{1}{p - 1} \right)^{-1} = \prod_{p | m} \frac{p - 1}{p - 2} \leq C_2^{-1} \log \log m$$

which combined with (8) proves (5).

Sharper estimates of  $\sum_{p \leq x} 1/p$  and  $p_n$  would lead to explicit values of  $n_1, C_1$  and  $C_2$ , but  $C_1$  and  $C_2$  would still depend on  $K$ . Taking  $n = p_1 p_2 \dots p_k$  where  $2 = p_1 < p_2 < \dots < p_k$  are the first  $k$  primes it is seen that the bounds of (4) and (5) are attained.

To prove theorem 2, the following lemma is needed:

**Lemma 1.** *If  $f(n)$  belongs to the class  $D$  and  $H(s) = \sum_{n=1}^{\infty} (f(n))^{-s}$  then*

$$(9) \quad H(s) = (1 + (f(2))^{-s} + (f(2^2))^{-s} + \dots) \prod_{p > 2} (1 - (p + a_{1,1})^{-s})^{-1} \prod_{p > 2} (1 + a(p, s))$$

where  $\prod_{p > 2} (1 + a(p, s))$  is absolutely convergent for  $\sigma = \operatorname{Re} s > 1/2$ .

**Proof.** Since  $f(n)$  is multiplicative we have

$$\begin{aligned} H(s) &= \prod_p (1 + (p + a_{1,1})^{-s} + (p^2 + a_{1,2}p + a_{2,2})^{-s} + (p^3 + a_{1,3}p^2 + a_{2,3}p + a_{3,3})^{-s} + \\ &+ \dots) = (1 + (f(2))^{-s} + (f(2^2))^{-s} + \dots) \prod_{p > 2} (1 + (p + a_{1,1})^{-s} + (p^2 + a_{1,2}p + \\ &+ a_{2,2})^{-s} + \dots) \end{aligned}$$

so that we may set

$$1 + a(p, s) = (1 + (p + a_{1,1})^{-s} + (p^2 + a_{1,2}p + a_{2,2})^{-s} + \dots) (1 - (p + a_{1,1})^{-s})$$

and therefore

$$\begin{aligned}
 a(p, s) &= \sum_{n=2}^{\infty} \{(p^n + a_{1,n} p^{n-1} + \dots + a_{n,n})^{-s} - (p + a_{1,1})^{-s} (p^{n-1} + a_{1,n-1} p^{n-2} + \\
 &\quad + \dots + a_{n-1,n-1})^{-s}\} = \sum_{n=2}^{\infty} A(p, s)/B(p, s). \\
 |A(p, s)| &= |(p + a_{1,1})^s (p^{n-1} + a_{1,n-1} p^{n-2} + \dots + a_{n-1,n-1})^s - (p^n + a_{1,n} p^{n-1} + \\
 &\quad + \dots + a_{n,n})^s| \leq (p + K)^\sigma (p^{n-1} + K p^{n-2} + \dots + K)^\sigma + (p^n + K p^{n-1} + \dots + K)^\sigma = \\
 &\quad (p + K)^\sigma \left( p^{n-1} + K \frac{p^{n-1} - 1}{p - 1} \right)^\sigma + \left( p^n + K \frac{p^n - 1}{p - 1} \right)^\sigma \leq 2(1 + K)^\sigma (p + K)^\sigma p^{(n-1)\sigma}. \\
 |B(p, s)| &= |(p^n + a_{1,n} p^{n-1} + \dots + a_{n,n})^s (p + a_{1,1})^s (p^{n-1} + a_{1,n-1} p^{n-2} + \dots + \\
 &\quad + a_{n-1,n-1})^s| \geq (p - 1)^\sigma (p^n - p^{n-1} - \dots - p - 1)^\sigma (p^{n-1} - p^{n-2} - \dots - p - 1)^\sigma \\
 &\quad = (p - 1)^\sigma \left( p^n - \frac{p^n - 1}{p - 1} \right)^\sigma \left( p^{n-1} - \frac{p^{n-1} - 1}{p - 1} \right)^\sigma = \\
 &\quad \{(p^{n+1} - 2p^n + 1)(p^n - 2p^{n-1} + 1)(p - 1)^{-1}\}^\sigma \geq \{p^{2n-1}(p - 2)^2(p - 1)^{-1}\}^\sigma \\
 &\quad \geq \left( \frac{p - 2}{4} \cdot p^{2n-1} \right)^\sigma.
 \end{aligned}$$

Therefore, we have

$$|a(p, s)| \leq 2 \sum_{n=2}^{\infty} (4 + 4K)^\sigma \left( \frac{p + K}{p - 2} \right)^\sigma p^{-n\sigma} = 2(4 + 4K)^\sigma \left( \frac{p + K}{p - 2} \right)^\sigma (p^{2\sigma} - p^\sigma)^{-1},$$

and so  $\prod_{p>2} (1 + a(p, s))$  is absolutely convergent for  $\operatorname{Re} s > 1/2$  since  $\left( \frac{p + K}{p - 2} \right)^\sigma$  is bounded and  $\sum_{p>2} (p^{2\sigma} - p^\sigma)^{-1}$  is absolutely convergent for  $\operatorname{Re} s > 1/2$ , which proves the lemma.

**Proof of theorem 2.** If  $f(n) = \sum_{f(m)=n} 1$  then

$$\sum_{n=1}^{\infty} \bar{f}(n) n^{-s} = \sum_{m=1}^{\infty} (f(m))^{-s} = H(s)$$

and by lemma 1 we have

$$(10) \quad H(s) = A(s) B(s)$$

where

$$A(s) = \sum_{n=1}^{\infty} a(n) n^{-s} = \prod_{p>2} (1 - (p + a_{1,1})^{-s})^{-1},$$

$$B(s) = (1 + (f(2))^{-s} + (f(2^2))^{-s} + \dots) \prod_{p>2} (1 + a(p, s))$$

so that  $B(s)$  is absolutely convergent for  $\operatorname{Re} s > 1/2$ . From (10) we obtain

$$N(x) = \sum_{n \leq x} \bar{f}(n) = \sum_{n \leq x} \sum_{d|n} a(d) b(n/d) = \sum_{n \leq x} b(n) \sum_{m \leq x/n} a(m).$$

To estimate  $\sum_{m \leq y} a(m)$  we need the following theorem due to H. Diamond, [6], on the so-called generalized integers:

Suppose  $\pi_n$  is a non-decreasing sequence tending to  $\infty$  and  $\pi_1 > 1$ ; then

$$\prod_{n=1}^{\infty} (1 - \pi_n^{-s})^{-1} = \prod_{n=1}^{\infty} (1 + \pi_n^{-s} + \pi_n^{-2s} + \dots) = \sum_{i=1}^{\infty} \beta_i \gamma_i^{-s}$$

where  $\gamma_1 = 1, \gamma_2, \gamma_3, \dots$  is an increasing sequence of positive numbers containing distinct elements of the multiplicative semigroup generated by  $\pi_1, \pi_2, \dots$  and where  $\beta_1 = 1, \beta_2, \beta_3, \dots$  are non-negative integers. If

$$\sum_{\pi_i \leq x} 1 = \int_2^x \log^{-1} t \cdot dt + O(x \exp(-b \log^a x))$$

where  $0 < a < 1$  and  $b > 0$ , then

$$\sum_{\gamma_i \leq x} \beta_i = Bx + O(x \exp(-c \log^{a/(a+1)} x))$$

for every  $c > 0$  and  $B = \lim_{s \rightarrow 1+0} (s-1) \prod_{n=1}^{\infty} (1 - \pi_n^{-s})^{-1}$ .

If we take  $\pi_n = p_n + a_{1,1}$ , then since  $a_{1,1}$  is an integer  $\gamma_i = i$ ,  $\beta_i = a(i)$ , and by the prime number theorem (see Walfisz, [8]) for every  $\varepsilon_1 > 0$  and some  $b > 0$

$$\sum_{\pi_n \leq x} 1 = \sum_{p > 2, p + a_{1,1} \leq x} 1 = \int_2^x \log^{-1} t \cdot dt + O(x \exp(-b \log^{3/5 - \varepsilon_1} x)).$$

Diamond's theorem gives then

$$(10) \quad \sum_{n \leq x} a(n) = Bx + O(x \delta(x))$$

where  $\delta(x) = \exp(-c \log^{3/8 - \varepsilon} x)$ ,  $c$  and  $\varepsilon$  are arbitrary positive numbers,

$$(12) \quad B = \lim_{s \rightarrow 1+0} (s-1) \prod_{p > 2} (1 - (p + a_{1,1})^{-s})^{-1} = \frac{1}{2} \prod_{p > 2} \left( 1 - \frac{a_{1,1}}{p(p + a_{1,1} - 1)} \right).$$

$$\begin{aligned} N(x) &= \sum_{n \leq x} b(n) \sum_{m \leq x/n} a(m) = Bx \sum_{n \leq x} b(n)/n + O(x \sum_{n \leq x} |b(n)| n^{-1} \delta(x/n)) = \\ &= x \cdot B \sum_{n=1}^{\infty} b(n)/n + O(x \sum_{n > x} |b(n)| n^{-1}) + O(x \sum_{n \leq \sqrt{x}} |b(n)| n^{-1} \delta(x/n)) \\ &+ O(\sum_{n > \sqrt{x}} |b(n)| n^{-1}) = x \cdot B \sum_{n=1}^{\infty} b(n)/n + O(x \delta(\sqrt{x})) + O(x \cdot x^{-1/4 + \varepsilon/2}) = \\ &= x \cdot B \sum_{n=1}^{\infty} b(n)/n + O(x \exp(-c' \log^{3/8 - \varepsilon} x)) \end{aligned}$$

with perhaps a different constant  $c' > 0$ , since  $\sum_{n=1}^{\infty} |b(n)| n^{-1}$  is convergent and  $\delta(x)$  is eventually decreasing.

$$\text{Since } \lim_{s \rightarrow 1+0} (s-1)H(s) = \lim_{s \rightarrow 1+0} (s-1)A(s)B(1) =$$

$$\frac{1}{2} \prod_{p \geq 2} \left( 1 - \frac{a_{1,1}}{p(p+a_{1,1}-1)} \right) \cdot \sum_{n=1}^{\infty} b(n) n^{-1},$$

the theorem is proved. Theorem 2 may be applied to all the functions mentioned at the beginning of this paper; the constant  $C = \lim_{s \rightarrow 1+0} (s-1)H(s)$  is easily computed for each of these functions using their defining properties and  $\lim_{s \rightarrow 1+0} (s-1)\zeta(s) = 1$ .

**Proof of theorem 3.** Since  $f(n)$  is multiplicative,  $\log f(n)$  is an additive arithmetical function. Asymptotic formulas for sums of reciprocals of additive functions were studied by De Koninck in [4] and De Koninck and Galambos in [5], where a sharper estimate than the one given by theorem 3 is obtained for  $f(n) = \sigma(n)$ . The method used in [5] is generalized by a forthcoming paper of E. Britzter, [2]. The proof of theorem 3 is a direct consequence of theorem 1. Using the fact that  $\sum_{2 \leq n \leq x} 1/\log n = x/\log x + O(x/\log^2 x)$  and that  $f(n) = 1$  possibly for  $n = 2^k$ , so that there are  $O(\log x)$  numbers  $\leq x$  for which  $f(n) = 1$ , we have by (4)

$$(13) \quad \sum_{n \leq x} '1/\log f(n) \geq \sum_{n \leq x} '1/(\log n + \log C_1 + \log \log \log n) \geq \sum_{n \leq x} '1/\log n + O\left(\frac{x \log \log \log x}{\log^2 x}\right) = \frac{x}{\log x} + O\left(\frac{x \log \log \log x}{\log^2 x}\right).$$

This gives the necessary lower-bound inequality. To prove the upper-bound inequality let from now on  $m$  denote an odd number greater than unity, and since  $1/\log m - 1/(\log C_2 + \log m - \log \log \log m) = O(\log \log \log m / \log^2 m)$  we have by (5)

$$\sum_{n \leq x} '1/\log f(n) \leq \sum_{n \leq x} '1/\log f(m) \leq \sum_{2^k m \leq x} 1/\log m + O\left(\frac{x \log \log \log x}{\log^2 x}\right).$$

Using the fact that  $\sum_{2 \leq n \leq x} 1/\log n = \sum_{2^k m \leq x} 1/\log 2^k m + O(\log x)$  and that by partial summation we obtain

$$\sum_{m \leq x} 1/\log m = x/2 \log x + O(x/\log^2 x); \quad \sum_{m \leq x} 1/\log^2 m = x/2 \log^2 x + O(x/\log^3 x)$$

it follows that

$$\sum_{2^k m \leq x} (1/\log m - 1/\log 2^k m) \leq \sum_{2^k m \leq x} k \log 2 / \log^2 m = O\left(\sum_{2^k \leq x} \sum_{m \leq x/2^k} k / \log^2 m\right) = O\left(\sum_{2^k \leq x} xk / 2^k \log^2 (x/2^k + 1)\right) = O(x/\log^2 x)$$

so that finally we obtain

$$(14) \quad \sum_{n \leq x} 1/\log f(n) \leq \frac{x}{\log x} + O\left(\frac{x \log \log \log x}{\log^2 x}\right)$$

which combined with (13) proves the theorem.

#### REFERENCES

- [1] P. T. Bateman, *The distribution of values of the Euler function*, Acta Arith., 21 (1972), pp. 329—345.
- [2] E. Brinitzer, *Eine asymptotische Formel für Summen über die reziproken Werte additiver Funktionen*, Acta Arith., (32) 1977, pp. 387—391.
- [3] E. Cohen, *Arithmetical functions associated with the unitary divisors of an integer*, Math. Zeitschrift, 74 (1960), pp. 66—80.
- [4] J.—M. De Koninck, *On a class of arithmetical functions*, Duke Math. Journal, Vol. 39 (4), 1972, pp. 807—818.
- [5] J.—M. De Koninck and J. Galambos, *Sums of reciprocals of additive functions*, Acta Arith., 25 (1974), pp. 159—164.
- [6] H. G. Diamond, *Asymptotic distribution of Beurling's generalized integers*, Illinois Journal of Math., 14 (1970), pp. 12—28.
- [7] G. H. Hardy and E. M. Wright, *An introduction to the theory of numbers*, 4th ed., Oxford University Press, London, 1960.
- [8] A. Walfisz, *Weylsche Exponentialsummen in der neueren Zahlentheorie*, VEB Deutscher Verlag der Wissenschaften, Berlin, 1963.

Institut Mathématique  
Knez Mihailova 35  
11000 Belgrade, Yougoslavie